ﬂé Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Answers

Which choice has a 3 with the value of 300 or 3 hundreds?
A. 3,794 B. 6,435 C. 183 D. 361 1
Which choice has a 3 with the value of 3,000 or 3 thousands? 2
A. 2,364 B. 73,458 C. 74,163 D. 1,623 5
Which choice has a 6 with the value of 60,000 or 6 ten thousands? 4
A. 6,592,478 B. 693,475 C. 654,283 D. 462,153

5.
Which choice has a 2 with the value of 20 or 2 tens?
A. 328 B. 246 C.932 D. 289 6.
Which choice has a5 with the value of 500 or 5 hundreds? [
A. 3,564 B. 9,853 C.2,735 D. 6,935

8.
Which choice has a 9 with the value of 9,000 or 9 thousands? 9
A. 35,897 B. 9,267 C. 46,719 D. 3,698

10.
Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 16,572 B. 18,392 C. 574,826 D. 21,936 11.
Which choice has a 7 with the value of 70 or 7 tens? 2.
A. 764 B. 187 C. 754 D. 471
Which choice has a 9 with the value of 900 or 9 hundreds?
A. 597 B. 619 C. 948 D. 3,795
Which choice has a 7 with the value of 7,000 or 7 thousands?
A. 59,478 B. 6,475 C. 71,249 D. 17,683
Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 56,894 B. 79,462 C. 69,425 D. 94,528
Which choice has a 2 with the value of 20 or 2 tens?
A. 238 B. 26 C. 2,364 D. 92
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ﬂé Examining Digit Place Value Name:

1)
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Answer Key

Solve each problem. Answers
Which choice has a 3 with the value of 300 or 3 hundreds?
A. 3794 B. 6,435 C.183 D. 361 . D
B
Which choice has a 3 with the value of 3,000 or 3 thousands? 2 _ =
A. 2,364 B. 73,458 C. 74,163 D. 1,623 5 D
Which choice has a 6 with the value of 60,000 or 6 ten thousands? 4 A
A. 6,592,478 B. 693,475 C. 654,283 D. 462,153
5. A
Which choice has a 2 with the value of 20 or 2 tens?
A.328 B. 246 C.932 D. 289 6. B
Which choice has a5 with the value of 500 or 5 hundreds? ! L
A. 3,564 B. 9,853 C.2,735 D. 6,935 D
8
Which choice has a 9 with the value of 9,000 or 9 thousands? 9 C
A. 35,897 B. 9,267 C. 46,719 D. 3,698
0. D
Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 16,572 B. 18,392 C. 574,826 D. 21,936 11 D
Which choice has a 7 with the value of 70 or 7 tens? 12 i
A. 764 B. 187 C.754 D. 471
Which choice has a 9 with the value of 900 or 9 hundreds?
A. 597 B. 619 C. 948 D. 3,795
Which choice has a 7 with the value of 7,000 or 7 thousands?
A. 59,478 B. 6,475 C. 71,249 D. 17,683
Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 56,894 B. 79,462 C. 69,425 D. 94,528
Which choice has a 2 with the value of 20 or 2 tens?
A. 238 B. 26 C. 2,364 D. 92
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